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Q.1

10.

Q2 (a)

(a)
(b)

(b)
(c)

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Define (i) Density (ii) Pressure

Define (i) Enthalpy (ii) Entropy

Differentiate between Extensive property and Intensive property.
Differentiate between Cycle and Process.

Draw P-V and T-S diagram of Carnot cycle.

Explain in short: Metacenter and Metacentric height.

Define (i) Specific Volume(ii) Specific weight

Define (i) compressibility (ii) Ideal gas

Explain in short: hydrostatic force.

Define (i) Uniform flow (ii) Rotational flow

Explain Close system, open system and isolated system with neat sketches.

OR

Difference between point function and path function.

Explain Kelvin plank statement of second low of thermodynamic.
OR

Difference between shaft work and flow work.

Explain first law of thermodynamic with example.
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(b)
(c)

OR

Explain First low of thermodynamic for cyclic process of closed system.

Explain thermodynamic equilibrium.
OR

Explain in short: polytrophic process with P-V and T-S diagram.

Explain Boyle’s law with P-V diagram.
OR

Explain Charle’s law with T-S diagram.

Write down Limitation and application of Bernoulli’s equation.
OR

Write down limitation of air standard cycles.

List out fluid flow and explain any two.
OR

Explain strake line and stream line.
Prove it’s Q= A1V1= Asz
OR

Explain momentum equation with figure.

Write down Advantages of Mody’s chart.
OR
Write the faults in pump .
Explain Reynold’s experiment.
OR
Write comparison between reciprocating pump and centrifugal pump.

Explain working of centrifuge pump with neat sketch .

Prove it PV = mRT.
Prove Internal energy is a property.

Explain in short: what is control system.
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(d)

Write down application of the pump.
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